

resbbb is a fit of all 5 res. do not know of dump file...



resonator 1, do sweep.
resdump_10...
resbbb_2

resdump 11- we do all resonators, 
resbbb_3.h5 will be the fits of these res...


run 
def dbgfits(aa,bb):

for file resdump 11
use sweeps, noise
20	25
21 	30
22	35
23	40	
24	45
Load resdump 11 file
You can set iq_index =20
is_read_dump_file=1
 
load in reslist 
resbbb_3.h5

yuo can then run everything, and test code on dump files w/ no cruyop stat


i have the file resbbb_4.h5 which has the better fits of the data. Seems close...


noise a little off the corcle.



Make new data

do wide sweeps:

M176_C1
resdump_sw 100 is the file for wideband sweeps


resdump_sw 102
This is netanal sweeps lf all the resonators, 
10,10,10 on attens


resM176_c1,h5 is the res lilst. No traces.

Dump file... for ffts

resdump_ff176 100- for below

[image: ]
Akl data for sweeps noise fits in above files.


Res2- pulsedata in resdump_ff176 102
res3 pulses file 103
res4 file 104


cant get more noise traces ....


reading pulse data from res 1-5
there is phse probme. 
Dump fiel is:

resdump_fft176, 202


dont kn ow if it is working.. look at raw datas..
 file 203 is res 7,8,9,10,11,12
file 204 is res 7-12 freqs, but rf loobbacl


file 205 is res 7-12, with attens set differnet, 10,0,10
sine amp is 0.1 so we adkust the attens

looks like we see pulses

206, rf looback, res 7-12

207, amp=.1, att 10,0,10
res 13-18

208 rfloobcacl for res 13-18

209- res 19-23. 
amp=0.1, , att=10,0,10


210, rflooback w/ res 19-23



Here are results from sweep stored in 
resM176_c1.h5

dumop file is 

resdump_ff176_00100.hdf


Here is res2
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Noise is a little off.
Most are like that


Here is res 7
[image: ]


[image: ]
res 1 is differnet:
[image: ]


[image: ]












Noise is 180 deg off








The order of the sweeps in the dump file will be
24 freq sweeps
5 res 1 noise
25 res2 noise etc.





Here is iqindex=4
[image: ]
















Here is iq_index = 31

[image: ]















def dbgfits(resnum):
	
	fa.hdfOpenR('resdump_ff176',100)
	fa.iq_index=0
	fa.I_raw = [zeros(200), zeros(200)]
	
	if 1==1:
	    for k in range(2000):
		
		fa.hdfReadIQ()
		iqp=fa.RectToPolar(fa.I_raw)
		figure(1)
		clf()
		subplot(2,1,1)
		plot(iqp[0])
		subplot(2,1,2)
		plot(iqp[1])
		draw()
		print fa.iq_index-1

		tt=raw_input()
		if tt=='c': break
		if tt=='q': return
		if tt=='-': fa.iq_index = fa.iq_index-1; print fa.iq_index
		if tt=='n':
		    tt=raw_input()
		    fa.iq_index=int(tt)
		    
	
	
	
	
	#######################
	
	offs=3
	nres=23
	fa.iq_index=resnum+offs
	
	
	spec=fa.hdfReadIQ()
	
	ll=200
	
	
	iq=[ fa.I_raw[0][:ll], fa.I_raw[1][:ll]  ]
	iqp=fa.RectToPolar(iq)
	
	
	#there should be NO delay to worry about due to adcs, baseband
	#the reason is that we se the same baseband for every step in sweep
	
	#the only delay factor is the RF freqs thru the xmission lines.
	#in this case it is 30ns only. 
	
	fbase=fa.frequency_list[0]
	
	print "sweep fbase %f"%(fbase)
	
	carrfs=arange(fa.start_carrier,fa.end_carrier, fa.inc_carrier)
	
	freqs=carrfs - fbase
	
	print "sweep center freq %f"%(freqs[100])
	
	
	iq2=fa.calcSweepDelay(iq,freqs)
	iqp2=fa.RectToPolar(iq2)
	figure(1)
	
	figure(1)
	clf()
	subplot(2,1,1)
	plot(freqs,iqp[0][:200])
	subplot(2,1,2)
	plot(freqs,iqp[1][:200])
	draw()
	
	
	
	#subplot(2,1,1)
	#plot(freqs, iqp2[0])
	#subplot(2,1,2)
	#plot(freqs, iqp2[1])
	#draw()
	
	
	figure(2)
	clf()
	plot(iq[0],iq[1])
	#plot(iq2[0],iq2[1])
	

	

	#get 1st nosie trace##############
	fa.iq_index=resnum*5 + (offs+nres)
	
	print fa.iq_index
	
	spec=fa.hdfReadIQ()
	
	
	fbase=fa.frequency_list[0]
	#iqnp=	fa.extractTimeSeries(fbase)
	
	#iqn=fa.PolarToRect(iqnp)
	
	print "noise fbase %f"%(fbase)
	iqn=fa.I_raw
	iqnp=fa.RectToPolar(iqn)
	#the phase of iqnp[0] should be same as the phase in the sweep 
	freqn=fa.carrierfreq-fbase
	

	print "noise freq %f"%(freqn)
	
	iqn2=fa.calcNoiseDelay(iqn,freqn)
	
	iqnp2=fa.RectToPolar(iqn2);
	
	
	
	figure(1)
	#subplot(2,1,1)
	#plot(array([freqn]*len(iqnp2[0])),iqnp2[0],'.')
	#subplot(2,1,2)
	#plot(array([freqn]*len(iqnp2[1])),iqnp2[1],'.')
	

	subplot(2,1,1)
	plot(array([freqn]*len(iqnp[0])),iqnp[0],'.')
	subplot(2,1,2)
	plot(array([freqn]*len(iqnp[1])),iqnp[1],'.')




	
	figure(2)
	plot(iqn[0],iqn[1],'.')
	#plot(iqn2[0],iqn2[1],'.')
	



	return(spec)


dbgfits(0)
Plots of RAW data
[image: ][image: ]















dbgfits(1)
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dbgfits(10)
[image: ]
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It appears that all the raw data is good. The Noise cloud is on the curve. This is true for all resonators I think. Have looked at ALL resonators in the file. All data is OK. A few res have noise taken off the center of res, but atht is a fitting issue.


Found an error in the code....were adding pahses wrong..

resdump_ff176_00100.hdf

wiorking file..
we read from the raw dump file and run fits etc.
Stawrt w/ list of resonarots from resM176_c1.h5 w/ nofits save to
resM176_c1_2.h5

use gui and read from dump file w/ this in diot/py


fa.is_read_dump_file=1
fa.iq_index = 3
#fa.iq_index = 4

#fa.iq_index = 26
#fa.iq_index = 31


do sweep on res 1 only...reading dump file




we fix fftanalyzerd code to do phase cals correct:
read all traces from dump file.
We get all res, fits, noises from dump file.

The we plot. 
All look good!!

Here is res 10, all look like this:
[image: ][image: ]
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We mayu have a slight problem w/ noise traces:
Here is res 19. the pulse is a little off the circle? Could it be a problem w/ plotting?
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A little off?

All fits saved to

resM176_c1_2.h5



image69.png

image70.png

image71.png

image72.png

image73.png

image74.png

image75.png

image76.png

image77.png

image78.png

image61.png

image79.png

image80.png

image81.png

image82.png

image83.png

image62.png

image63.png

image64.png

image65.png

image66.png

image67.png

image68.png

